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" SUMMATIVE ASSESSMENT - 1, 2015-16
| L SCIENCE
Tlass - IX y
Time Allowced: 3 hours Maximum Marks : 90
™ General Inslrecticis:
the cueston paper Zomprises of two Secions, A and B. Ysm arc to attempt both the
seclions.
2. All guestions are compulsory
3. all questions of Section-A and all queshons of Seciion-B are to be attermpled separately.
4 4 {aeslion mumbers ¥ 1o 3 in Seclion-A are one mark guestions. These are 1o be answered L.
one word or i one scotence
| 5. Duestion numbers 4 to 6 in Sections-A are two marks e tions, Mese are Lo be answeTed
in about 20 words each.
6. Ouestion numbez 7 to 18 in Section-A are three marks quesHins. The"51e T e
answered inabort 30 words each
7. Owestion momprs. 19 to 24 in ‘.;ie-:i:un—.-f arc iive nacissyiestior  Thes: are to e
arrswared moat ot Tl wonds each,
" reestion nnmi ers 25 to 33 in Seclion-B are nultiple choce questi. s based or mractical
kills  Hoch o1 wdon is 8 ome mmk queshon. You are o seiéct <1 most appropriate
n: ponse cob ol the four provided fovon - - -
€ Ouestion nambers 34 0 3¢ in Section-B are guiesHons based & practical skMs Esch
questiut is ¢f bvo marks. \
Phyibs =L 3,617, 10, 4,135,196, 22, 23,53,
| Siolesy 1,510, i 17,18, 21, 24,25, 26,30, 31 39
- Chemistry -4, 7, 8,3, 1%, 20, 27, 78, 29, 37, 54
| SECTiONni > s
ad Starte: thie Jocalion of genes in the cefl. L —
/ i the cofl <ian bebween two badies a heavier and the other tiphies write the r=la icn betveer L2
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b iy St Mo aa:

Lar waaepes I me: wnbom of the bwo bodies, o e W
W rite the ST anit ot universal pravitation consta (S
T whicis of the follewing substances you expect strongest an
aHra-iion between the particles 1 alrohol. water, sodisem il
seasan for vour answer, e '
Name the muscular tissne which is prosent 1n e iris of the
cells ¥
A eyclist goes cnce pound a  civcuiar hrj of
5 minies. Caloatate his speed. - ; -
{a)  Crystalisation is & Deller technique Lh-m simple cua% techmique.  Justify this
stat=ment by giving hwo reasons. \ '
() Menlioa any fwo applications of chromatograpiy-
“Solid carbon dioxide is called dry 10e”. Juskify this sEsiSment.
(ay s Show by an achvity that homogenecus : P lires €2
(b} How is it difffrent from heterogeneous i
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Yo ad Draw the diagram of smooth muscle cell énd a sperm cell. Comrment on the variety of shapes =
h of cell by taking two morve examples.
H*J‘;NI () Name the tissue which joins 3
S _ .41y  musdestobones.
(2) bones to bunes.
/ Which of the twe ™ :
{1) More elastic 7
~ (2} Stronger 7
e l,;/ Vhat are the cffects of the following or- inertia of 2 body? 3
! (a) M iorceis doubied
(b)  If density is halved
4 (¢) Ifvolumeis reduced o cue thrid
13 Identify the force and explain how 3
{i} it is respansi=la for Rol-hns the solar system wgether.
J it is responsible for the & 7th revolving round the sun.
1 (a) Diffecentiate betsreer: 3
{1 Spead st Voelocily '
5] Thsplacy="»nt and Jistance
¥ Is it passi® = 7.2 ¢ body to have ils velecity and acceleration poiting i opposie
frecions ? Jusdiy fiving a cianple

15 Define uhifors spe o and uniforniee.elerton. : :
The train ‘A’ travroed 2 distas o of 120k "3 hourswherses another train B 1. awellel 2 disianc: o
150 km in 4 howrs, "aoitran D iravellng ladter v

1o £ coctain foree exerted for 12 » ra'ses *he spesd oF 30 object fecos 1.8 mfs to 12 mfs, Fod it 3
.cenlaraticn if inass of the object is 5.5 kg calcuiste the forge ~mptied.

17 v farme tad a plotjust beside thy bat ! a river. Eah lime 5@ ¥herif crops. gor dapaged 2
gue b floods. He consulted the agriculn.rad Gemst whe gave S0 rsﬂzﬂal vagiely of eeds
and zlsn wivised hine oo pre-~Hce fish faemiag, . b -

E (i) Nl was the soedalty of seed groins ghven Bim & i
Ja! What aame car be £7wen Lo IJ_.'I_'i‘-T- e < fish farmmane 7 o |
Lid dow the farmer was benefitte, T the advice ofagritvtumlapaet 7

1§ How de Sunbemp or Guar heloin crop peguachon mmﬂﬁﬁ 'ﬂrl,,a:e these be'=r ihan 3
fe:iilisers 7 .

15 “ hrew stodeals A, Band C pvpp.m:d mith:h wsing d%‘ cemmon sk and milk =
res sectively n water. Whise mixkurs - , %

(a) w101 id not leave residue oo filter paper sfieniEiaton :
(b} - veouldshow tyndall effet? 1‘& 4 3
ic) would give transparent 'clexr solutim 2 S e
ld} woitd safle dowmn abthe Laltom when gft ul
(¢} could be filtered by fiiter paper
20 (@) Commenton e following slaterent - 5
‘Evaporation causes cooling -
(k)  Why do we observe waler droplets outside tne g ice cold water 7
Explain reason.

21 Write four characteristic fearlures of Farenchymatic Ls W classify this 5

tissue based upon its specialised functions ? What are these Yy
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2 {a) State Newtons se--ond Law of Mofione Express it mathematically and find Sl undt of 5
foree from it

(b) ‘J
In the diagram given above, if the card is flicked aw:® 1_-:111". A jerk, what will you
observe 7 Explain the reason for this observation.

23 12}  Draw a velooty-ime graph for an objet inunitorm oeoion. Show that Lthe slope of
the velocty-time graph gives the acceleration of the object.

() An aeroplane starts from rest with an acceleration of 3 me Sand takes a ron for 35<
before taking off. What is the minimam length of the runway and with what velocity the
plane took off 7 = 3

24 Uefine ‘Hybridisation’. Fxplain the thges lypes of Jr:uqq-bna ding ‘practived doving 5

h‘r’bmiaatnm ? What do vou mean by geneticaliy modified crops 7
SECTION - B \ —_

25 Three students brouglht samples of srac dal From their hooic lesi U=rresence of meanil 1
yeliow as adullerant. They took the samples in test tubes anc-scibcd water to each, The
science teacher +dded a few drops of a chemicn in each sample wad o-corved that one althe
saniples lurned segenta. The chemival that e wacher added was:

L

fa)  inetani yeliow By o hydrochlonic agid- s~
‘0] iodine sclution {d)  sfarchsolution
25 Yeilow brown is the colour uta reagent damed : X
(aj v HCI (b 51 TATT
(c) lodine solution (d) dil sc--;jlum bydroedde
2F For five formation of iron sulphide Som iren filings the Lumpg.wn.uﬂ:thlfm are L
EY irca filings and sdlphir ioxide :
{ia}  sulphur and from fileps — \
+C} carbon dielphide and ron flings i

i sulphur dioxi s zmd iron filings
P &

-

ZE Sulphur powder dissglves in carbon Jisalphide o fﬂmwm‘d sohalion but soid 2
.

sulphur reappears by ¥
{a) e cyporadon of carbon disulphide ﬁ
(b}  sublimation or sulphur \ ' h
i) cooling the solution ; - -
A distllton - . Y
29 Om heating crvstal of copper sufphate in a test tube #is M'&Hﬂ"  :
(a) the substance sublimes.
(b)  brown lumes are evolved. H
() 2 yrey mass is formed. 4
(d) white residue js left behmnd. t
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IVJ"'-._nmrp tabulated his observations about the chevk cells and anion cells as 1:._1'"-*:?;'-1&1*]1-\? :

[ | SL Mo. Chaek cell Onian cefl
(gt - kFiek S [Bive 4
I (i) Bucheds Pirsenl Present
{1 {iii) Vacuole | Centrally Few, scrilered -
B loeated
| {iv) Cell wall | 73 sent Present

and showed it to b teachar, Two of his observations were wit ng, Which anes ace By 7
(@) (i), (i) (b) (i), tiid)
(<) (45} (iv}) . {d) (1i1), (Iv}
A studont chserved that a neuron consists of 8 cell body with a mzcleus znd cytoplasm from
whach long thin har ke pards arise. These hair like exdensions arecalled -
A cyhom (bl axon
{c} desdrites i)  merveending s

Sustmabion is used o separate which of the [vilowing mivlures

(=} lheniziag and = :

Thi Na: guisam .

(1 RS SE

vie!  Urez .od Notrogen
The spmng b aance used 9 measus~ ecwimam | orce 1equived to jos! acve a wooden biocis:
of rang e 0— ol srvtani b 100 divisiiase on mecnle Wisen the Pock just sterted maovi. ¢
geoimber 1oas at B divisir 1 e forre ot dhis paint is :
ia) T ol ek 4 A5 gwi
i} pagwt il ok on
e Lo is the time 5or sufidrinks. YW jove 1o take iemomade, sgirsaes, cold drim.s, &40
i ke = it of dritks youheve 3nd Cizssify Comeas True solution suspeasién :ad colleids.
Zeaph for chongee of o to sizam ‘s saovn b 'ow, Clherve the chiange wf stoo fom &1 1o
water ant. vt of B steem aud avribe e ferences thatcan bedranm i tas s
Hypme hang: of state.
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g
e be 7g. Caleulate the percentape of waler absorbed by'Sicins. Write ove precaution “hat
necds to he taken In this experiment
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of raisins were placed in distiller. waker for 2! hours. The mass of siaked raisios was found 2
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